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Reasoning Practice Papers for LIC Assistant Prelims 2019  
 

Directions (1-5): Study the information and answer the given questions: 

 

Eight persons are sitting around a circular table. Some of them are facing inside the center while some are 

facing outside the center. F sits third to the left of L. G sits third to the right of M who is facing inside the 

center. E sits second to the left of G. Both K and H sits immediate left to each other. Only two persons sit 

between E and I. F faces same direction as H but opposite to L. K sits second to the left of E. K and I facing 

same direction but opposite to G.  

 

Q1. Who among the following person sit immediate right of K? 

(a) G 

(b) H 

(c) M 

(d) F 

(e) None of these 

 

Q2. How many persons sit between I and K, when counted left of I? 

(a) Three 

(b) One 

(c) Four 

(d) Two 

(e) None  

 

Q3. Who among the following person faces M? 

(a) L 

(b) G 

(c) E 

(d) F 

(e) None of these 

 

Q4. Which of the following statement is true about H?  

(a) L sits third to the right of H 

(b) F is an immediate neighbour of H 

(c) H faces inside 

(d) H sits immediate left of the one who sits second left of G 

(e) None of these  

 

Q5. What is the position of E with respect to F? 

(a) Second to the left 

(b) Third to the left 

(c) Immediate right 
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(d) Fourth to the right 

(e) None of these 

 

Direction (6-10): Study the following information to answer the given questions: 

In a certain code language 

‘writer poetry prize’ is written as ‘la ac dt’,  

‘writer creative today magical service’ is written as ‘ol pr rp ac tp’,  

‘real poetry creative today coffee’ is written as ‘tp dt rp ge hg’ and  

‘stress creative service’ is written as ‘rt tp pr’.  

 

Q6. What is the code for ‘service’? 

(a) ol  

(b) rp  

(c) pr  

(d) ac   

(e) tp 

 

Q7. ‘stress today creative magical’ could be coded as? 

(a) tp rt rp ol  

(b) rt ac rp ge   

(c) dt rt rp ol  

(d) rt ac pr ol 

(e) None of these 

 

Q8. ‘hg’ stands for? 

(a) poetry   

(b) creative   

(c) coffee  

(d) real   

(e) Either ‘real’ or ‘coffee’ 

 

Q9. Which of the following may be the code for ‘keep creative prize’? 

(a) tp la rt   

(b) la dt ol  

(c) lb la tp  

(d) ge la ac   

(e) None of these  

 

Q10. ‘tp ol pr’ is the code for? 

(a) today creative service   

(b) stress creative service 

(c) creative magical service   

(d) Can’t be determined 
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(e) None of these  

 

Directions (11-15): In each question below are given some statements followed by some 

conclusions. You have to take the given statements to be true even if they seem to be at variance 

with commonly known facts. Read all the conclusions and then decide which of the given 

conclusions logically follows from the given statements, disregarding commonly known facts. 

 

Q11. Statements: 

Only a few petal are stem. 

No root is stem. 

Some petal is leaves. 

Conclusions:  

I. All petal are leaves is a possibility 

II. All petal are steam is a possibility. 

(a) Only I follows 

(b) Both I and II follow 

(c) Only II follows 

(d) None follows 

(e) None of these 

 

Q12. Statements:  

Only a few computer is laptop. 

Some laptop are mouse. 

Only computer is monitor 

Conclusions:  

I. Some mouse is monitor  

II. Some monitor is laptop is a possibility. 

(a) Only I follows 

(b) Both I and II follow 

(c) Only II follows 

(d) Either I or II follows 

(e) None follows 

 

Q13. Statements:  

Only a few silent are quiet. 

No quiet is peace. 

All quiet are mute. 

Conclusions:  

I. Some mute is silent. 

II. All peace can be mute. 

(a) Only II follows 

(b) Both I and II follow 

(c) Only I follows 
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(d) Either I or II follows 

(e) None follows 

 

Q14. Statements: 

Some singer are song. 

All singer are tone. 

Only song is music. 

Conclusions:  

I. Some song is tone is a possibility. 

II. Some singer is music. 

(a) Only I follows 

(b) None follows 

(c) Both I and II follow 

(d) Only II follows 

(e) None of these 

 

Q15. Statements: 

Only a few secret is code. 

All logic are code. 

All hidden are code. 

Conclusions:  

I. All secret is logic is a possibility 

II. All hidden is secret is possibility. 

(a) Only II follows 

(b) Both I and II follow 

(c) Only I follows 

(d) Either I or II follows 

(e) None of these 

 

Directions (16-18): Study the information carefully and answer the questions given below. 

Point P is 15m west of point Q. Point R is 5m east of point S. Point U is 10m north of point V. Point Q is 10m 

north of point R. Point U is 10m east of point T, which is 5m north of S. 

 

Q16. What is the shortest distance between point P and Point V? 

(a) 24m 

(b) 25m 

(c) √624m 

(d) 20m 

(e) None of these 

 

Q17. In which direction point U with respect to point P? 

(a) North-east 
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(b) North 

(c) South-east 

(d)South-west 

(e) None of these 

 

Q18. In which direction point Q with respect to point V? 

(a) North 

(b) North-east 

(c) North-west 

(d)South-east 

(e) None of these 

 

Directions (19-20): Study the information carefully and answer the questions given below. 

There are six persons in three generation of the family. P is father of Q. T is brother of Q. V is father of U. V 

is son in law of W. T is unmarried. U is niece of T. 

 

Q19. How is P related to V? 

(a) Father 

(b) Father in law 

(c) Mother in law 

(d) Mother 

(e) None of these 

 

Q20. How is Q related to U? 

(a) Mother 

(b) Sister 

(c) Daughter 

(d) Son 

(e) None of these 

 

Directions (21-25): Study the following information carefully to answer the given questions:  

Eight Persons are going to attend seminar on two different dates-13th 

and 28th of the four different months starting from March to June. 

 

Only three persons attend seminar between V and U, who goes in the 

month which has even number of days. More than four persons 

attend seminar after P. Only two persons attends seminar between P 

and T, who attends on an even number date. V attends seminar 

immediate after R, but not in the same month. Q and W attends 

seminar on the same date but in different month. More than one 

person attend seminar between S and W. U and T don’t attend 

seminar in same month. 
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Q21. Who among the following attend seminar on 28th May? 

(a) T 

(b) Q 

(c) P 

(d) S 

(e) None of these 

 

Q22. V attends seminar on which of the following month?  

(a) April 

(b) June 

(c) March 

(d) May 

(e) Cannot be determine 

 

Q23. How many persons are going in between R and Q? 

(a) Two 

(b) One 

(c)  Three 

(d) More than Three 

(e) None  

 

Q24. Which of the statement is true about W? 

(a) W attends seminar on an odd number date 

(b) W attends seminar on the month which has even number of days 

(c) Only two persons are attending seminar between T and W 

(d) Q attends seminar immediate before W 

(e) None of these 

 

Q25. Four of the following are alike in a certain way so form a group, which among the following 

does not belong to that group? 

(a) P- 13th March 

(b) Q- 28th May 

(c) U- 13th June 

(d) V- 28th April 

(e) S- 13th May 

 

Directions (26-30): In these questions, relationship between different elements is show in the 
statements. The statements are followed by conclusions. Study the conclusions based on the given 
statements and select the appropriate answer: 
(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows 
(d) If neither conclusion I nor II follows. 
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(e) If both conclusions I and II follow. 
 
Q26. Statements:  H>B=W≤I=O>P≥K=T 
Conclusion I: T<I  II: O≥B 
 
Q27. Statements:  R>E<W>P=Y≥V>C≥N 
Conclusion I:  V<W   II: Y>N  
 
Q28. Statements:  T>R≥W=E≤N>C=D≤M 
Conclusion I: M≤W  II: M>W 
 
Q29. Statements:  J≥U≥Y>T≤D=V>H>S<K 
Conclusion I: D>S  II: T≤J 
 
Q30. Statements:  E=R <P≤S >D=C>I≥F 
Conclusion I: E<D  II: S>F 
 

Directions (31-35): Read the following character sequence carefully and then answer the question 

given below it. 

4 B @ # P W 3 $ 5 % T & 7 8 C F E * © A K 2 U D + ¥ R 

 

Q31. How many such symbols are there in the above sequence, each of which is immediately 

preceded by a vowel and immediately followed by a symbol? 

(a) One  

(b) Two 

(c) Three  

(d) None 

(e) None of these 

 

Q32. If all the symbols are dropped in the given series, then which element will be at 12th position 

from left end? 

(a) 8 

(b) T 

(c) 5 

(d) E 

(e) F 

 

Q33. Which of the following element is 6th to the right of 13th 

element from the left? 

(a) ©  

(b) T 

(c) A  

(d) K  

(e) None of these 
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Q34. How many such numbers are there in the above sequence, each of which is immediately 

preceded by a number and immediately followed by a symbol? 

(a) One 

(b) Two 

(c) Three 

(d) None 

(e) More than Three 

 

Q35. What will come in place of the question mark of the series? 

BP@  $T5  8EC  ? 

(a) U D + 

(b) AUK 

(c) © A K 

(d) AD2 

(e) None of these 
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